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Bell Ringer

Section 3.4 B — Transforming a Function .
Use graph if neede M_

) How does the graph f{x) = 2x differ from the graph g(x) = 2x— 47

How are they alike?
SO Shvge. AN
2) f[x) =3x—5and g(x) = F{x/rfl m-‘f) = %(x""*) -5

How do (g)x and f(x) differ? How are they alfke?
Iy-12-5

Same slepe -1

3) Which has thnajeatest rate of change? C Which has the greatest y-int
a.y=1/2x+4 b.
D
—
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' B R 4 : 19
W 6 | 27
x ,L\ 8 1, 35
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Section 3.4 B — Transforming a Function SOi utio n S
Use graph if needed

1) How does the graph f(x) = 2x differ from the graph g(x) = 2x— 47 .
How are they alike? v

Same slope, g(x) is down 4 *
2) IFf(x) = 3x — 5 and g{x) = f{x — 4), :

How do (g]x and f(x) differ? How are they alike? EREERREE / T
Same slope, g(x) is right 4 /

3) Which has the greatest rate of change? C Which has the greatest y-intercept? A

a.y=1/2x+4 b. . C. | . )
0 K
2 11
- 19
6 27
8 35
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correct 3.4 point-slope ws
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Name K’(eq HW 3.4 Point-Slope Form Hour

In Exercises 1-6, write an equation in point-slope form of the line that passes through the given point and has the
given slope.

vl A

+, L4y m =73 2.(-6, ) m=-4 3, (0,-2)m=

Y-4=2(x-2 y-1= =4 (xre) \ﬁ%l:a%x

el !-.-3)m=-§ 5.(4,0)m=2 6. (-I,l)m=§
Y43 =L (xrn) 3:'20(“"% \j~[2é(>&\3

In exercises 7-9, graph the line given a point on the line and the slope.

7. (-6, 5)m=-2 ""/ ,-l)m=% -‘-\ ,-4)rn=3

Mo ow sl owm| @

In exercises 10-12, give the slope of the following lines, then name a point on each line.

10.y+6=2(x+1) y-3=-2(x+2) 1.y = —3(x~5)
B 2

Slope= Slope= — &= Slope= ~— 5
[ d < d 2

Point (=] ,~(, ) Point(—l _7) ) Point ( g G
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In exercises 13-14, graph the lines given the equation in point-slope form

@+2=3(x—1)

(1;-2)

oM w2 ow oo

! i i |
i i I b
i | RN {
' g bl s e s e | :
: ' 5 L :
L ER R ENEN EW 304 5 6 B ls lafa 2 ja | 1 2] 3\\4| 5| 6
R i e IR S j bl DA M Sark Al R e ;
i | 1 i ; { R { | :\$§
I
|

Fo e |24 | i e | |t | |
bl pll A B 5 4 N S 3 5 S O O O
L O O O T || iy L]

In Exercises 17-20, convert the equation from point-slope form to slope-intercept form.

17.y+6=-2(x—4) 18.y+7=4(x+3)

' = N 49 =
o= 0rt §o1- ey

’/_8=;:-(x+9) .\-\ —1=§(x+m)
487 3x+3 Y-1=2 xiy

¥ N
21. Is y—4 =3(x + 1) an equation of a line through (-2, 1)? Explainp

- fory.
|- = 3(-2+1) plugin <24 x aad |

~2= 30D /’;\;5 3\0\1\ (xak a e Catenedt.
~3=-3/
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Hw tracker due Mon --> Week 5-6
3.1 #s 9-11 all, 15-37 odds
3.2 #s 9-15, 17, 18, 21, 23-26, 28, 31
3.3 #s 13-17 all, 21-25 odds, 41
3.4 - Pt-Slope Form ws /50
3.4 - Transformation ws & 3.4 #22-23
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due Monday:
Tranformation of functions blue ws &
3.4 #s 22-23



3.4C Point-Slope and Slope-Intercept forms.notebook October 05, 2018

Name Hour Date Score

Transformations of Functions

f(x)=3x+2 (x)—le»B
1. Graph f(x). a ,q € 2. Graph g(x). L 3. C]fmpare and contrast the 2
/ graphs.

- —

&

ry
N

4. Graph f(x)§ 3. ? 3 5. Graph f{(x) — 3. &2 6. Compare and contrast the 2

/ graphs with the graph of f(x).
. | w3
/. / ordaWin 2

v v

7. Graph g(x) + 3. 8. Graph g(x) — 3. 9. Compare and contrast the 2
4+ 1 graphs with the graph of g(x).

s EEsEsass ‘_/) : Mdnim?

v
F S

v v

10. What does adding or subtracting a constant from the output of a function do to the graph of the function?

MQ\I-Q_U“_\A‘:_QP A
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11. Graph 3-f(x). 12. Graph -3-(x). 13. Compare and contrast the 2
1 1 graphs with the graph of f(x).

Mﬁi

¥-AS

F s
v
s
b4

14. Graph 3-g(x). 15. Graph -3-g(x). 16. Compare and contrast the 2
4 * graphs with the graph of g(x).

v v

17. What does multiplying a constant to the output of a function do to the graph of the function?

_Stretehgs siseaper nég—s> Vefletks ovlr
X0y

= 2
%(‘%x)*z 20. Compare and contrast the 2

graphs with the graph of f(x).

reed wr Y

3

‘\x:l-z 19. Graph

18. Graph f(3x).

F s
v
h
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21. Graph g(3x).
r S

F s

v

24, What does multiplying a constant to the input of the function do to the graph of the function?

v

22. Graph g(-3x).
r 3

v

b4

October 05, 2018

23. Compare and contrast the 2
graphs with the graph of g(x).

P (Rresses grmpns

25. Graph f(x +3).& g

F

et _ x+7

28. Graph g(x + 3).
-

v

F s

v

v

26. Graph fix — 3). ¢—a g

Fy

b k-3

2

29. Graph g(x—3).
r

v

v

b4

27. Compare and contrast the 2
graphs with the graph of f{x).

30. Compare and contrast the 2
graphs with the graph of g(x).

31. What does adding or subtracting a constant to the input of the function do to the graph of the function?

ledt 4 yignt
(+) )

10
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22. Using a graphing calculator, graph flx) = 3x + 2.

. a. If flx) = a2 and g(x) = 4f(x), write the equation for g(x] Graph (x)
U‘)K and compare it to the graph of f(x). CX S @)

If flx) = 3x + 2 and h(x) = fl4x), write the equatlon for h( GTd h[x

and compare it to the graph of f(x) -c(q\‘) - 0 \1‘@
¢. Compare how multiplying a function by a number and multlplymg the’ ,_2

x-value of a function by a number change the graphs of the functions.

O 23. il!g a grdphln‘é:dlmomq@% 0?\3 na
a.

If ilx) =2x—5and j(x) = flx) + 3, \ﬂ'ltE the equaggl for j(x). Graph [XJ.XX'
and compare it to the graph of f(x).

b. If f{x) = 2x — 5 and k(x) = f{x + 3), write the equation for k(x). Graph k(x)
and compare it to the graph of f(x).

€. Compare how adding a number to a function and adding a number to the
x-value of a function change the graphs of the functions.

-1



3.4C Point-Slope and Slope-Intercept forms.notebook

22. a.g(x) = 12x + 8 Sample: The graph of g(x) has

23.

a much steeper slope. The y-intercept for
f(x) is 2 and the y-intercept for g(x) is 8.

.h(x) = 12x + 2 Sample: The graph of h(x) has

a much steeper slope. Both graphs have the
same y-intercept, 2.

.Sample: Multiplying a function by a

number increases the slope and changes
the y-intercept. Multiplying the x-value
of a function increases the slope, but the
y-intercept remains the same.

. J(x) = 2x — 2 Sample: Both graphs have the

same slope, but different y-intercepts.

. k(x) = 2x + 1 Both graphs have the same

slope, but different y-intercepts.

.Sample: Adding a number to a function

changes the y-intercept, while the slope
remains the same. Adding a number to
the x-value of a function changes the
y-intercept, while the slope remains the
same.

October 05, 2018
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kahoot

®

34;}-:@)
¢ Hx-y

-2
“x-g

October 05, 2018

13
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1-8 att, 10-36 evens
SM1 ‘0/'6“5 Name ID: 1

Slope-intercept and point-slope Forms Date Period

Find the slope of each line.

1) y=35x-2 1
2) y=—x—4
) ¥y e
» oA )
\ P
\\ x L1 /,./__ L[ x
Y . . Y
Find the slope of the line through each pair of points.
5) (20,9). (4,-7) 6) (-17,-11). (13, 11)

14
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‘Write the slope-intercept form of the equation of each line given the slope and y-intercept.

1 . 1 .
7) Slope = > y-intercept = 1 8) Slope=-— 5 y-intercept = 0

‘Write the slope-intercept form of the equation of the line through the given points. y=mx +b

9) through: (3, —5) and (1, 4) 10) through: (4, —5) and (2, -1)

11) through: (2, —5) and (-5, -3) 12) through: (-4, —4) and (2, 4)

13) through: (1, 1) and (4, —4) 14) through: (0, —5) and (2, -3)

15) through: (3, 1) and (2, —1) 16) through: (-1, —1) and (1, 0)
2

15
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17) through: (2, 1) and (-2, 2) 18) through: (3, —2) and (5, 3)

19) through: (-3, 4) and (3, 3) 20) through: (1, -1) and (-1, -3)

‘Write the Point-slope form of the equation of the line through the given points. y - yl =m( x - x1)

21) through: (4, -2), slope=0 22) through: (_3, _5], slope = :

23) through: (—5, -5), slope= i 24) through: (—4, 1], slope = ;

25) through: (4, —4), slope=— z 26) through: (—1, 5], slope = —4

16
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27) through: (2, -3 lope = -2 2
) through: (2, -3), slope 28) through: (-5, 1), slope=—§

29) through: (2, _1). slope :% 30) through: (—1, —1], slope =-3

‘Write the slope-intercept form of the equation of the line through the given point with the given
slope. y=mx + b

7 9
31) through: (2, 2), slope = E 32) through: (—5, —4], slope = g

33) through: (—l, -2), slope=5 34) through: (—2, 0], slope=2

35) through: (—2, -1), slope =—4 36) through: (5, _3], slope = 1_10

17
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SM1

Name ID: 1
Slope-intercept and point-slope Forms Date Period
Find the slope of each line.
1 =5x-2 1
) y=>5x 2) y=—x—-4
5 4
1
4
] \ S
X\ P
\\ x L] /'/ L1 %
Y . . Y

2 3
4
Find the slope of the line through each pair of points.
5) (20,9).(4,-7) 6) (-17,-11), (13, 11)
1 1
15

18
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‘Write the slope-intercept form of the equation of each line given the slope and y-intercept.

7) Slope = ;, y-intercept = 1

Y= 1x+l
< D

-

‘Write the slope-intercept form of the equation of the line through the given points. y=mx +b

9) through: (3, —5) and (1, 4)

9 7
y=——x+—
- o) )

et -

11) through: (2, —5) and (-5, -3)

13) through: (1, 1) and (4, —4)

5 8
y=——x+—
i 33

15) through: (3, 1) and (2, —1)

}.‘:—]_

1 .
8) Slope=-— 5 y-intercept = 0

10) through: (4, —5) and (2, -1)

yv=-2x+3

12) through: (—4, —4) and (2, 4)

44
J=—x+ —
Y=3%73

14) through: (0, —5) and (2, -3)

yv=x—35

16) through: (-1, —1) and (1, 0)
1

11
y=ox—5

“

October 05, 2018
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17) through: (2, 1) and (-2, 2) 18) through: (3, —2) and (5, 3)
1 3 5 19
y=——x+ y=7%-
2 27 2
19) through: (-3, 4) and (3, 3) 20) through: (1, -1) and (-1, -3)
1 7 j=x—2
}J:—g:{-'-z J X

‘Write the Point-slope form of the equation of the line through the given points. y - yl =m( x - x1)

21) through: (4, -2), slope=10 22) through: (_3, _5], slope = :

y+2=0
y+5= 4[.\7 +3)
3
2 1
23) through: (—5, -5), slope = 5 24) through: (—4, 1], slope = 7
2 1,
y+5="{x+5) y-1=-Ax+4)
5 -

25) through: (4, -4), slope = 3 26) through: (-1, 5), slope=—4
2 y—5=—4(x+1)

y+4=—i(x—4)

-

October 05, 2018

20
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27) through: (2, -3 lope = -2 2
) through: (2, -3), slope 28) through: (-5, 1), slope=—§

y+3=-2(x-2)

y—1 =—§f:x+5}

29) through: (2, 1), slope :% 30) through: (—1, —1], slope =-3

y+1=-3(x+1)

1
}-‘+1:E(x—2)

‘Write the slope-intercept form of the equation of the line through the given point with the given
slope. y=mx + b

7 9
31) through: (2, 2), slope = E 32) through: (—5, —4], slope = g
7 9
}.‘:Ex—5 J-':g.\f‘f'.j
33) through: (—l, -2), slope =35 34) through: (—2, 0], slope=2
y=5x+3 v=2x+4

35) through: (—2, —1), slope =—4

36) through: (5, —3], slope = L
y=—4x-9 10

21
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